Kinro replacement windows and parts are available through ParKin Accessories, the wholesale distributor for these
specialized applications. ParKin Accessories has been serving the RV and glass industries since 1985.

RM02088 Outer Frame 13. RS07013 3-7/8" Steel torque arm

1. :
2. RV08524 Glazing Vinyl 14. RF02023 5/16" E ring " a
3. RM09356 Q-17 Bedding compound 15. RF02024 Link stud S Ol §
4. RA02064 Horizontal Mullion 16. RV05103 / RV5104 SSB/ DSB Sash wrap glazing (8} (" |z (6)
5. FR01028 #6 x 3/4” Screw 17. RA02041 Vent frame ; TIEAN B i
6. RA02065 Vent head 18. RV02045 Perimeter seal S ; o7
7. RF01023 #6 x 9/16" Screw 19. RV02063 Installation shims - N P
8. RMO02007 RH Torque spring 20. RA02067 Operator shim A ae : O
9. RMO02008 LH Torque spring 21. RS07002 Torque tube T S8 9
10. RF01067 #8 x 1-1/8" Screw 22. RF02052 .512 x .750 x .047 Washer . 3 I
11. RS07014 1-7/16" Steel link arm 23. RM02005 End cap bearing : \®
12. RF01176 .188 x 5?16” Tubular rivet 24. RF02013 #10 x 5/8” Screw W/ #8 head 3 ( ;
11
4 i
—@

)

S

®




' Kinro RV Window Parts '

From ParKin Accessories 1-800-637-8938

Kinro has been serving the Recreational vehicle industry for many years and has thousands of windows in units across the
country. Many sizes and styles have been produced to the OEM's specifications so it's important that we correctly identify the window
you need. Not all windows are fully servable however, we are willing to help you with your Kinro window replacement needs,

parts or whole window assemblies.

R 2225408 o LR

200SVS 30.0X22.0 G20 TP BK 762961092306

All Kinro windows have a part number label that is located on the backside of the window frame.
In order to see this number , you will have to pull the window out of the vehicle. This is needed for window replacements.

A hite or "'aft",, RF02023 E-RING RM02007 RH SPRING RM02067 RM07100-02 WHITE
b ttc °Xtezpa S RM02008 LH SPRING SCREEN CLIP RM07100-03 BLK
ottom next 2 pages (Viewed from inside)

New # 309619 /old # RM08534-1 RM07013-1 TORQUE ARM  RS07014 LINK ARM

>

RA10809-02 WHT RV02031-03 SCREEN RA02067-00 OPERATIOR SHIM RM03042 pLasTIC RM02018 enp cap RM02004 TORQUE LINK
RA10809-03 BLK CLIP

RMO0-8702-1

¥ g e - o | .8 B
RM02003-1 OPERATOR Viewed from inside RM02002 OPERATOR Viewed from inside




RM08616-1 LATCH

Kinro RV Window Parts ¢

From ParKin Accessories 1-800-637-8938

RM09894 LATCH

RM07084-1
2-1/2" Crank

RA02125-03 Inner hinge pc. BLK
RA02116-03 Outer hinge pc. BLK
RA02125-02 Inner hinge pc. WHT
RA02116-02 Outer hinge pc. WHT

LY

RM02016-02 WHT
RM02016-03 BLK

Small square corner

RM02017-1 RED

C5580540000 9-1/2" WIDE complete assembly with brackets

RS07002-XX Torque Tube

only
measure window & call us

RMO8590-1 LATCH 21102000 RH

RM07100-03 1” BLK
RM07100-02 1" WHT
RM07101-03 2" BLK
RM07101-02 2" WHT

S/ COMPONENTES
RM0O8592 A - 2000
SCISSOR LATCH BASE

RM08592 SCISSOR LATCH

RM02043

Molded corner— BLK or WHT

RM02044

Tight Molded corner-BLL or WHT

RM02001 LH

RM02072-1
2 pc Support brackets

314870
Twin arm operator
knob

Larger square screen corner

RM02045-BLK
RM02045-WHT



Kinro/LCI 2000 Series Window Vinyl .

From ParKin Accessories 1-800-637-8938

The drawings below are showing cross-sections of the window vinyl for Kinro 2000 Series windows.

o 33 L Koo IT Y N

RV02042-03 BLACK ~ RV02045-02 WHITE RV08523-02 WHITE ~ RV02105-03  RV02063-03
WHITE-NOT AVAIL. ~ RV02045-03 BLACK ~ RV08523-03 BLACK BLACK BLACK RV02097-03 Black - RVO2096-03 Black

U U= v e

RV02036-03  RV05103-03 RV05104-03 RV02104-03 RV02020-02 White RV0201-02 White RV02099-03 RV02100-03
BLACK BLACK BLACK BLACK RV02020-03 Black RV0201-03 Black BLACK BLACK

Kinro 8500 Series Window Vinyl

Y™ « Z >Ta Ll LT

RV0O2031-03 RV02032-03 RV08524-02 WHITE RV08586-03 RV085588-03 BLK RV08622-03 RVO8543-03 RV02033-03
BLACK BLACK RV08524-03 BLACK BLACK RV08588-02 WHT BLACK BLACK BLACK

Kinro 8600 Series Window Vinyl

The drawings below are showing cross-sections of the window vinyl for Kinro 8600 Series windows.

S It f Aoy

RV08401-03 BLACK ~ RV08601-03 RV08603-03 BLACK  RV08615-03 RV02103- RV08604-03 RV08701-03 RV08609-03
FXD MTG RAIL BLACK FXD LT GLAZING BLACK 03 BLACK BLACK screen track BLACK

L\ reRAET——r o

RV02103-03 RV08606-03 RV08616-03  RV08616-03 RV08607-03 BLACK RV09135-0
BLACK BLACK BLACK BLACK SPLINE

Kinro 8700 Series Window Vinyl

([ B — T

RV08523-02 WHITE = RV08417-03 BLACK RV08406-03 BLACK RM08701-03 Double felt track ~ RV08713-03 BLACK

RV0O8402-03 BLACK
RV08523-03 BLACK  FXD MTG RAIL Felt track
RV8416-03 TRACK
| &
RM09901-1
Glued in
(8700 Series)
RM08701-03 Double felt track RM03001-1 w/adhesive
RMO8610-03

(used to have felt)



W Kinro Window Styles W
From ParKin Accessories 1-800-637-8938

These drawings are for reference only. You may see the style similar to the one you want to replace. Use these as a guide to describe to us what your
window may look like and we will be happy to assist you.

F200SES

F2015ES

" F200SVANGCSX F200SVANGRSX |

f
F200SV | F2005VD
F201SV

F200SVES
F2015VES

F200SVDTE /
F201SVDTE | | ‘

F200SVE
F201 SVE

A @i::::::%ﬁ [ ——
|

- F200EPW 18Il F200PW
F201EPW F200PVP

F201PVP | :
HQ?J""E:;::L"';éij '\EE::-_-::::ﬂJ K£F=======?=====Efffy

-
b
=
—




200S8VS

ZUUSV“]
2015V

F200SESV

F201SESV
e |

F2015VS

200svPw || | [F200pws
201svew| | [F201Pws
F2005VS i 3
F201SVSC

[ F200SVSC
|

‘ F200SVVS

[ W
|

| |
A
i F201SVVS




Kinro 2000 Series Window Parts

From ParKin Accessories 1-800-637-8938

F 300FVSE
IF3BOSEFY OFFOSITEY
MINIMUN 36 176 X 20
F 3005V F300SWSE
MIMIMUM 12 3/8 € 30 |78 (F3005ESV OPFOSITE) MAX IMUM 72 X 30
AXIHUM 36 X WINIMUM 36 176 X 30 178 AT S1 T/6 WIDE & OWER 1T BECOMES EGUAL 5I0ED
17" VENT HEIGHT MALIHUM T2 X 4

&
AT 51 T/8 WIDE & OVER |T BECOMES EQUAL

SIDED

MIMIMUM 36 |58 X |4
MAX [MUM 72 ¥ 30

F3005vD
MIKIMUM 36 |78 X 30 /8
MAX IMUM 72 X 48

I7" VENT HEIGHT

F300EFW
MIHIHUM 27 X

0. |25
MAX IMUM 30 X 50

F . F
Picture
— ( ) -
F F300PW F300EPW
I F Vented Egress
F300FW
Panel v € HIKIMUM 12 & 12
HANIMUM 72 X 48
F3008V FI0OVEPW F300SVSE ALT MAKIMUN 48 X 72



